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So I'm going to open anaconda now, how will I do that? I'll go to my Launchpad
Refer Slide Time: 00:09

if you're using a Mac machine this is how you have to do, but if you're using Windows probably
it will be same on your desktop,

You can see anaconda navigated here
(Refer Slide Time: 00:19)
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I'm gomg to click on that, it will take some 2 minutes time, please patiently wait here, now it

says loading applications
(Refer Slide Time: 00:30)
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it will get opened, and you can see something like this
(Refer Slide Time: 00:34)
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this window, now you have several options here, click on spider launch

(Refer Slide Time: 00:39)
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now this is the place where we'll be typing all our codes,

(Refer Slide Time: 00:47)
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yes, now it has got opened and you'll be able to see something like this,
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so it says that there is some update available I will do it later, okay.

Now this is a Python version 3.6, now this is the place where you are seeing console
(Refer Slide Time: 01:04)
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Python 3.6.5 |Anaconda, Inc.| (default, Mar 29 2818, 13:14:23)
Type "copyright", "credits" or "license" for more informatian.

IPython 6.4.8 — An enhanced Interactive Python.

In [1]:

this is the place where I'm going to write all my codes now, I'll be working only at this space so
what I'm going to do is I'll maximize this view, I’ll go to the view on this toolbar here

Sl}efer Slide Time: 01:15)
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and I will click on maximize current pin now, if the font size is slightly small what you can do

is control shift + and your size gets bigger.

Now so we are going to write everything here and you can even see your output here itself, so
let me start I’1l just take a variable A, what I mean by variable is [ am just assigning some value
to A here, A= 1, and I'm going to give B as some value say 2, and C as some value say 3, right



(Refer Slide Time: 01:51)
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IPython 6.4.@ -— An enhanced Interactive Python.
1

In [1]: a=1
In [2]: B=2
In [3]: =3
In [4]:

HELEL Endeglinase L. uTE-8 Fr o o r—" S e—Y )

L
now | am going to perform some operations on A, B, C, just observe A+B I want it C, you have
got output as 3,
(Refer Slide Time: 02:00)
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‘vpe “copyright”, “credits" ar “license" for more information.

Python 6.4.8 -- An enhanced Interactive Pythom.
no[1]: a=1
o [2]: b=2
n [3]: =3

n [4]: a+b
ut[4]: 3

n [5]:

"" Puimissicos WW_ Edelsis U Encodng UTR-R  Liw B ol 1 Memer 4% |
now [ want to do A star B, so what will it give me? Yeah, A star B is 2, now what do I do? I'll
take a new variable say D and I put it in, I'm going to insert a code here you see this code here
(Refer Slide Time: 02:19)
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IPython
In [1]:
In [2]:
In [3]:

In [4]:
Jut[4]:

In [5]:
Jut[s]:

In [E]:

G.4.8 = An enhanced Interactive Python.
a=1
b=2
=3

atb
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d="
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I'm going to type something like IIT, yes so D becomes IIT now, now what I will do is I will do

a, this small letter a +d, let us see the output it says that there is some error
(-Refer Slide Time: 02:37)
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In [3]:

In [d]:
Out[4]:

In [5]:
Out[5]:

In [6]:

In [7]:

a+d

In [8]:

In [8]:

I knew this would happen, why? Because you see it says that one is a

TypeError: unsupported ocperand type{s) for +:

LT

=3

a+b
3

akh
2

d="IIT'

a+d

Traceback (most recent call last):

‘imt' and
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n integer and another one

is a string, so it cannot add it up, so what would happen is you see here in input line 1A is an
integer, input line 7 I have given it as a+d, but what is input line 6? It says as IIT, this is a string,

hence this operation cannot be performed.



Now let me change 1 as, this integer one as another string so what I will do I will give a new
value say A is equal to, I will get the same value for A, I'll use the same variable A as string 1,

yeah, now I’ll add A and D and let us see what happens, yeah see

(Refer Slide Time: 03:30)
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In [2]: b=2

In [3]: =3

In [4]: a+b
Dut[4]: 3

In [5]1: a=b
Out[S51: 2

In [6]: d="IIT'

In [?]: a+d
Traceback (most recent call last):

File "<ipython—input-7-2alef2caelct=", line 1, in =module=
a+d

TypeError: unsupported eperand type{s) for +: 'int' and "str'

In [8]:
In [B]: a="1"'

In [9]: a+d
Out[9): 'YIIT*

In [18]: |
there is a 1 here and there is an IIT here, so this is the output.

Now if I do A star D again it cannot multiply it,
(Refer Slide Time: 03:44) ) o
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Cansals A
In [B]: g="IIT'

In [7]: a+d
Traceback (most recent call last):

File "<ipython=input=7=-2alefZcaefch>", line 1, in <=module=
a+d

TypeError: unsupported operand type{s} for +: 'int' and ‘str’

In [B]:
In [B]: a="1"
In [8]: a+d
Out[3l: '1IIT®
I
In [18]: awd
Traceback (most recent call last):

File "=ipython-input-18-868485ff1b87=", 1line 1, in =module=
a*d

TypeErrar: can't multiply sequence by non—int of type ‘str'

In [11]:

In [11]: d
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now what I'm going to do is I'll add D here, I'll add something to be D, D+ again quotes,
because [ am going to give some string here, now Ropar in string, Ropar is the string in quotes,
so D + Ropar this is what will it be, let us check

(Befer Slide Time: 04:00)
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Traceback (most recent call last):
File "“=ipython-input-7-2alef2casfch=", line 1, in =module=
a+id

TypeError: unsupported operand type{s} for +: 'int' and 'str’

In [8]:
In [B]: a="1'
In [3]: a+d

Dut[9]: "1IIT"

In [18]: asd
Traceback (most recent call last):

File "<:pyrhnﬁ—iﬂp..t—‘lh—ﬂﬁﬁ-ﬂuhf‘mﬁ.'b", line 1, in =module=
asd

TypeError: can't multiply seguence by non—int of type 'str'

In [11]:

In _[11]: d+"Ropar
Out[1X]: 'IITRopar'

In [12]:

Pamesors: B End-cf-lines: LF Escodion: UTF-8 Linz: 8 Colmn: 1 Memone 55 %

did you see it is IIT Ropar, because D was IIT initially, and I've added a string Ropar so it is
now going to be IIT Ropar.

Please observe there is no space here before the alphabet R, what if I want space, what I'm
going to do is D+ before I start the word Ropar I have given a space you see here so space

ROPAR as usual, did you see we have got a space after IIT and before Ropar,
(Refer Slide Time: 04:36)
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l'ypeError: unsupperted operand typelsl for +: 'int' and 'str'

[n [8]:

[n [8]: a="1"
[n [8]: a+d
wt[9]: '1IITY
[ [18]: a+d

lraceback (most recent call last):

File "<ipython-input-10-@6B485ff1bBT=", line 1, in <module=
akd

lypeError: can't multiply sequence by non-int of type 'str'

[ [11]:

[n [11]: d+'Ropar’
Jut[11]: "IITRopar'

[n _[12]1: d+' Ropar'
Wwtliz]: ‘11T Ropar’ I

m [13]: |

so you can play around like this with this basic operations, and what I am going to now do is |
am going to introduce a new library here, where I'll use that library and perform certain
operations again, so what will be going to do now is we'll be seeing how to generate some
integers, how do we generate some random integers, so the library which I will be using is
import random, so this is the one which I will be using

(Refer Slide Time: 05:10)

TypeError: can't multiply sequence by non-int of type 'strllT
Mugar

In [11]:

In [11]: d+'Ropar’
Out[11]: 'IITRopar’

In [12]: d+' Ropar’
Out[12]: 'IIT Ropar'

In [13]: import rando

MY Vi ~

\ 8L

this is the library, random is the library which I will be using, so what do you understand by this
word import, you're getting something from somewhere right, so I have got this library now and
I can use it for my further operations.



So what would be the next step, so we have this library imported now, what I am going to do

next is random.randint, now within this I am going to give a range let me say 20, so what this
step is going to do is now it has imported the library random, it will give me a random integer
between 1 and 20, so let me see, yes we have got a test 12, let me check again, it is 15,

(Refer Slide Time: 06:03
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ROPE
In [12]: d+' Ropar' uuur
Qut[12]: 'IIT Ropar'
In [13]: import random

In [14]: random.randint(1,20)
Out[14]: 12 I

In [15]: random.randint(1,20)
Out[15]: 15

In [16]: |

did you see I didn't type random. randlnt 1, 20 again, what I'm going to do is just press the up
arrow in your keyboard, and you can see that the previous command comes in your input line
(Refer Slide Time: 06:17)
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In [12]: d+' Ropar’ e

Out[12]: 'IIT Ropar'
In [13]: import random

In [14]: random.randint(1,20)
Out[14]: 12 1

In [15]: random.randint(1,20)
Out[15]: 15

In [16]: random.randint(1,20)]

now again [ have pressed it, now that is giving me 18, once again 5, once again 1
(Refer Slide Time: 06:26)
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In [11]: dugar

In [11]: d+'Ropar’
Out[11]: "IXITRopar’

In [12]: d+" Ropar'
OQut[12]: *IIT Ropar'

In [13]: import random

In [14]: random.randint(1,2@)

Out[14]: 12
In [15]: random. randint(1,28)
Out[15]: 15
In [16]: random.randint(1,28)
Out[16]: 18
In [17]: random.randint(1,28)
Out[17]: 5 I
In [18]: random.randint(1,2@)
Qutl18]: 1
In [}!]:

- Permissions: nd-ol-fines: LF_ Enceding: LT

so you have seen that we have generated 5 integers between 1 and 20, now the moment I just
type random and press tab space and then tap, the moment I press random. and then tap do you
see we have a series of some operations here,

(Refer Slide Time: 06:45)
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TypeError: can't multiply sequence by non—int of type 'str'

In [11]:

In [11]: d+"Ropar’
Out[11]: 'IITRopar'

In [12]: d+' Ropar'
Out[12]: 'IIT Ropar®

In [13]: import random

In [14]: random.randint{l,2@)
Dut[14]: 12

In [15]: random.randint{1,2@)
Out[15]: 15

I lleli [andom. iGN, Gasmavar iate
randam. gauss
In [17]: random. random, getrandbits
Dut[17]: 5 random, getstate
random. lognarmvariate
In [1B): random. randgm.normalvariate
Qut[18]: 1 random, paretovariate
randem, randint
In [18]: random.
L= AW Endeoldings: LF Encoding: UTF=B  Line B Column 1 Memers: 55%

basically you can try all this yourself it is all open for you to explore, do you see something
here random.randint, this is what I used now, but let me just take this random.choice
(Refer Slide Time: 06:59)
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In [15]: random.randint(1,20) Hupar
Out[15]: 15

In [16]: random.randint(1,20)
Qut[16]: 18

In [17]: random.randint(1,20)
Out[17]: 5

I
In [18]: random.randint(1,20)
Out[18]: 1

In [19]: random.choice|

[T oTaari ™ -l W W

so what is this going to do, let me check by putting the question mark, so did you see if we put
the question mark, we get the answer for our questions that is it chooses a random element from
a non-empty sequence

(Refer Slide Time: 07:13)




In [16]: random.randint(1,20) Wur
Out[16]: 18 Hupar
In [17]: random.randint(1,20)

Out([17]: 5

In [18]: random.randint(1,20)
Qut[18]: 1

In [19]: random.choice?
Signature: random.choice(seq)
Docstring: Choose a random element from a non-empty jsequence.

File: ~/anaconda3/1ib/python3.6/random.py
Type: method

In [20]:

B/ M NS : W WY

and how do I have to give that, you can see here if it is given by signature, random.choice
sequence, so in bracket if I mention the sequence it will generate a random element.

So now let me try that out random.choice and then bracket I have to give a sequence, did you
see? So first we have to give a sequence, yes, so let me type it as L, L is equal to, please note
here you have to use square brackets, so 1 let me give some sequence 1, 2, 5, 7, 10, 100, 78 and
-2 yeah,

(Refer Slide Time: 08:00)
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In [11]: d+'Ropar
Out[11]: 'IITRopar'

ROPE

In [12]: d+' Ropar'
Out[12]: 'IIT Ropar"

In [12]: import random

In [14]: random.randint{l,2@)
ODut[14]: 12

In [15]: random.randint{l,2@)

Out[15]: 15
In [16]: random.randint{1,2@)
Out[16]: 18
In [17]: random.randint{l,2@)
Dul[17]: 5
In [18]: random.randint{1,2@}
Out[18]: 1

In [18]: random.choice?

Signature: random.choice(seq)

Docstring: Choose a random element Trom a non-emply sequence.
File: ~/anacondald/ Lib/python3. 6/ random. py

Type: method

In [28]: 1=I1,2,5,7,18,104,76,-2]

so this is my sequence of numbers.



Now I have already given L as the sequence, now what I'm going to do is random.choice and L
in bracket, let’s see it is showing a random number from this sequence which is fine, I'm going
to use up arrow again here,
(.Reﬂfer Slide Time: 08:26)
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In [13]: import random

In [14]: random.randint{l,2e)
Dut[14]: 12

In [15]: random.randint(l,2@&)
Out[15]: 15

In [16]: random.randint(l,2@)
Out[16]: 18

In [17]: random.randint{l,2@)
Dut[17]: &

In [18]: random.randint{l,2&)
Out[181: 1

In [19]: random.choice?

Signature: random.choice(seq)

Docstring: Choose a random element from a non-empty sequence.
File: ~/anacondal/1lib/pythend. &/ random. py

Type: method

In [28]: 1=[1,2,5,7,18,100,78,-2]

In [21]: random.cheice(l)
Dut[21]: 5y

In [22]: random.choicel(l}

B Fadiard ¥ Frens HTE=R Line B Pl 1 basess 58

so | get my command, enter gives me 1, once again gives me 10, once again gives me 100, did
you see, so all the integers generated here are from this sequence L which was given as an
input, the last one 7,

(Refer Slide Time: 08:42)
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In [17]: random.randint(l,2@)
Jut[17]: &

In [18]: random.randint{l,2@)
ut[18]: 1

In [19]: random.choice?

iignature: random.choicelseg)

locstring: Chopse a random element from a non—empty Sequence.
File: ~fanacondad/lib/pythoni. &/ random. py

Type: method

In [20]: 1=[1,2,5,7,1@,18@,78,-2]

In [21]: random.choice(l)
Jut[21]: &

In [22]: random.choice(1}
Jut[22]: 1

In [22]: random.choice(1}
Jut[23]: 1@

In [24]: random,cheicell)
Jut[24]: 188

In [25]: random.cheicell)
Jut[28]: 7

In [26]:

1] Evad = il i LF  Encod UTF=f Lina B Colonn: 1 Mamery: 56 %



so you've just seen the library which was imported called random, now we will be introducing
you to a more relevant library which we'll be using in this week for the chapter graph theory,
and coming 1 or 2 weeks and we'll be introducing you to that library in the next video, you are
free to explore more on Python this was just an introduction to Python for you to play around
and understand how it works, so we'll be now moving on to the library called as NetworkX,
we'll be giving more details in the next video.
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